Math 10 Solving Systems of Linear Equations Graphically

When Carmen visited Vancouver, she had to decide whether it was worth it to pay $3 per transit ticket, or buy a
Compass card for $6 and pay $2.40 per ticket. To help her make her decision, she calculated the number of
times she would need to buy a ticket for the Compass card to pay for itself. What equation would help her

Adatermine the ancwar?
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A visual representation of this scenario shows an alternate way to determine the answer. Graph each equation
above. What do you notice when x = 10?
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Identify the point of intersection of each system of linear equations by graphing.
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The solution is (3,“"‘) . The solution is (3,'2) .

The solution can be verified by substituting the values into each equation and showing the left side is equal to
the right side.

Verify the solution in part a).
2xty =2 -y =1
2(3) veH) 3-(4)
b-4-2 344 =T
v v

Suppose a mistake had been made when the lines were drawn in part b) and the answer had been (3, —1). Verify
the solution.

x-3y = 9 2xry =4
3_3(.|) 2(3) "'1
3+3 #9 -4

Assignment: handout



